1

TE% (23—

- BIH LS DFER)

HEAE HEAR e T
RATH 4 % 1 % 0 (B) (B/A)
(BEMHT) 3 % B
NI VN 4 15 4 0 4 0.27
X H X e 1 3 1 4 0.36
B H 54 4 2 6 0.11
& hva i i R 8 5 3 8 1.00
X BB Hi 88 16 6 22 0.25
i) H # # H 5 0 1 1 0.20
%2 E 8 &t 5 0 1 1 0.20
O—X ., BEEHLSVET 93 16 1 23 0.25
2 BEH (3—RHO2E)
ET IV HEAR RS
R AT & % 1 % 0 (B) (B/A)
(BEMHT) 3 % B
# 5 H ] 5 E X 1e 4 1 3 4 1.00
HELHFH A H ] LI EER 1 0 0 0 0.00
o — R #l E 5 1 3 4 0.80
HEAE HEAR TEEs
0 (B) (B/A)
(BEMHY) E % 5
% B B & § 98 17 10 21 0.28




